Mrs. Gregory & Mrs. Postlethwuite's group — Bronze fluency,

place value chart by 10.

1a. Divide the number represented on the

1b. Divide the number represented on the
place value chart by 10.
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2da. Which of the following numbers is the
answer to 2 + 10?

2b. Which of the following humbers is the
answer to 3 + 107
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3a. Which equation matches the answer
shown in the place value grid?

3b. Which equation matches the answer
shown in the place value grid?
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4a. Complete the calculation: 4b. Complete the calculation:
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